GROSS MARGIN 20% 25% 30% 35% 40% 45% 50% 55% 60%

Increase Your sales would have to DECLINE by the amount shown

Your Price before your Profit is reduced

By
2% 9% 7% 6% [5% |5% [4% | 4% | 4% | 3%
4% 17% [ 14% | 12% | 10% | 9% |8% | 7% | 7% | 6%
6% 23% | 19% | 17% | 15% | 13% [ 12% | 11% | 10% | 9%
8% 29% | 24% | 21% | 19% | 17% | 15% | 14% | 13% | 12%
10% 33% | 29% | 25% | 22% | 20% | 18% | 17% | 15% | 14%
12% 38% |32% | 29% | 26% | 23% |21% | 19% | 18% | 17%
14% 41% | 36% | 32% | 29% | 26% | 24% | 22% | 20% | 19%
16% 44% | 39% | 35% | 31% | 29% | 26% | 24% | 23% | 21%
18% 47% | 42% | 38% | 34% | 31% | 29% | 26% | 25% | 23%
20% 50% | 44% | 40% | 36% | 33% |31% | 29% | 27% | 25%
25% 56% | 50% | 45% | 42% | 38% |36% | 33% | 31% | 29%
30% 60% | 55% | 50% | 46% | 43% |40% | 38% | 35% | 33%

For example, at the same 25% margin, a 10% increase
in price could sustain a 29% reduction in sales volume



